Some assessment comments/considerations:
· Users get 1 attempt at True/False
· Users get 2 attempts at selecting a best answer or all that apply
· Users should be able to have 2 overall attempts at the quiz. They can attempt it once, and if score is below 80%, they can review the material and retry.
· The passing score is 80%.
· The questions can be weighted equally at 5 points each.

1. True or False. You can process data collected with a SonTek M9 in the WinRiver II software. Answer = False

2. Select the best answer. You are at a site that is roughly 400 ft wide with little vegetation along the banks. You conduct a moving-bed test and the moving-bed software suggests that the test had some bottom track issues and there is a moving-bed condition at your site. What is the preferred method for making the discharge measurement in these conditions?
A)    Use the bottom track reference with no correction
B)    Use GPS (GGA or VTG)
C)    Use the bottom track reference and correct with LC
D)    Use the bottom track reference and correct with SMBA

3. True or False. A moving-bed condition will always result in the measured discharge being biased low. Answer = True

4. Select the best answer. Temperature is an essential variable in the computation of speed of sound when using ADCPs. For this reason, a temperature comparison with a hydroacoustic instrument is required:
A) Once per field season
B) Prior to each field trip
C) Prior to every measurement
D) If the unit seems to be reporting a false temperature


5. Select the best answer. A loop moving-bed test requires:
A) Continuous, valid bottom track data
B) A GPS receiver
C) An accurately calibrated compass
D) All of the above
E) Only A and C

6. Select all that apply. OSW memo 2012.01 requires that a measurement be processed and quality assured on-site. From the list below, select all steps that are required.
	A) Perform and evaluate moving-bed tests
	B) Compare the measured discharge to the current rating
	C) Evaluate ADCP data for quality issues, including, but not limited to, invalid bottom and water track data, improper boat speed, improper unit configuration, etc
	D) Ensure estimated edge discharges are reasonable
	E) Evaluate the extrapolation methods
	F) Ensure at least 720 seconds of data was collected

7. True or False. A StreamPro measurement collected in the Windows Mobile PDA software can be processed fully on the PDA and does not need to be loaded into the WinRiver II software before leaving the site. Answer = False

8. Select the correct answer. An intensity profile plot is shown. The data displayed in this plot during data collection represents received signal strength intensity for which of the following?
	A) The entire transect
	B) A single ensemble
	C) The entire measurement
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9. True or False. In the SonTek RiverSurveyor Live software a red icon in the Sidebar Status Icons typically indicates a data quality issue that should be addressed immediately, prior to collecting any additional data. Answer = True
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10. Select the best answer. Which of the following tasks cannot be performed in the SonTek RiverSurveyor Live mobile software?
	A) Processing Moving Bed Test Files
	B) Conducting a Compass Calibration
	C) Conducting a System Test
	D) Download Data from the ADCP

11. Select all that apply. When selecting a water mode for a TRDI Rio Grande ADCP it is preferable to use a mode with low instrument noise, or random error, when conditions allow. Low noise water modes with a Rio Grande include:
	A) Water mode 1
	B) Water mode 5
	C) Water mode 11
	D) Water mode 12

12. Select the best answer. When measuring velocity with an ADCP we need to optimize the time between pulses, or lag, based on which criteria?
	A) Presence of moving bed
	B) Quality of the GPS signal
	C) Maximum speed of the water and the boat 

13. True or False. Data files associated with a single measurement should be filed and archived in a single folder specific to that measurement. Answer = True

14. Select the best answer. In the process of collecting a measurement in stable flow conditions you have completed 3 valid transects totaling 823 seconds of measurement time.  What is your next step?
	A) Process and finalize the measurement
	B) Don’t use one transect, then process and finalize the measurement
	C) Collect an additional valid transect

15. True or False. ADCPs are unable to measure water velocity near the river bed due to a phenomena called side lobe interference. Answer = True

16. Select the best answer. ADCPs can have problems making measurements in streams with:
	A) Too much material in the water (high suspended sediment)
	B) Too little material in the water (low suspended sediment)
	C) Flow conditions with high and rapid spatial variations (one beam measuring a vortex and others in the free stream)
	D) Both A and B
	E) All of the above

17. Select the best answer. Error velocity, also known as difference velocity, can only be measured in an ADCP with:	Comment by nstasuli: From here down needs to be added
	A) 4 transducers, oriented in a Janus configuration with two sets of opposing beam pairs
	B) 3 transducers, equally spaced around the ADCP face
	C) One vertically oriented transducer

18. True or False. Each ADCP transducer can only measure how fast the particles in the water are moving directly towards or away from the transducer. To compute both horizontal and vertical velocities in a depth cell, ADCPs require multiple transducers and assume that velocities measured in all transducers are in the same speed and direction. Answer = True

19. Select all that apply. ADCPs offer great flexibility in the conditions and situations they can be deployed and operated successfully. Acceptable deployment methods in the USGS include:
	A) Fixed mount to a moving boat
	B) Tethering from a bridge
	C) Tethering from a manned or unmanned cableway
	D) Wading across the stream pulling the ADCP on a short rope

20. True or False. You have completed a measurement consisting of 4 valid transects. Upon review, it seems the third transect has a discharge that is more than 10% from the measurement mean. Even though there are no obvious data quality issues, it reasonable to remove the transect from the measurement calculations. Answer = False
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